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QUESTION 1

Which of the following TMOS feature enables BIG-IP to scale performance based to the available CPU cores?
A. Clustered multi-processing

B. OneConnect

C. HTTP class

D. Session persistence

E. Auto Last Hop

Correct Answer: A

QUESTION 2

When initially configuring the GTM System using the config tool, which two parameters can be set? (Choose two.)
A. System hostname

B. IP Address of management port

C. IP Address of the external VLAN

D. Default route for management port

E. Port lockdown of management port

Correct Answer: BD

QUESTION 3

The current status of a given pool member is unknown. Which condition could explain that state?

A. The member has no monitor assigned to it.

B. The member has a monitor assigned to it and the most recent monitor was successful.

C. The member has a monitor assigned to it and the monitor did not succeed during the most recent timeout period.

D. The member\\'s node has a monitor assigned to it and the monitor did not succeed during the most recent timeout
period.

Correct Answer: A
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QUESTION 4

Use a proprietary syntax language. Must contain at least one event declaration. Must contain at least one conditional
statement. Must contain at least one pool assignment statement. What must be sent to the license server to generate a
new license?

A. the system\\'s dossier

B. the system\\'s base license

C. the system\\'s serial number

D. the system\\'s purchase order number

Correct Answer: A

QUESTION 5

What are two advantages of the Quality of Service (QoS) load balancing method? (Choose two.)

A. It resolves requests to the site with the highest QoS value in the IP header.

B. It combines multiple load balancing metric values in a single load balancing method.

C. It allows the GTM administrator to place relative values on each metric used to determine the optimum site.
D. It allows the GTM System to select the optimum virtual server based on all available path and server metrics.

Correct Answer: BC
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